TERR264F BE T IS AE T A W (TH)
L ST B PR A BT S 5 —
wooE B B P

1. SREE% (P85 5 S 5 5 B i)
) &R (C) [ 7K & (mm) BB ] (h)
AHE | P 7 A | P 7 A | P s
A 24.8 | 25.3 -0.5| 101.5 [ 48.4 | +53.1] 27.1 | 541 | -27.0
) 27.2 | 26.6 +0.6] 10.0 [ 58.7 | -48.7| 62.0 | 57.6 +4.4
T A 28.5 | 27.8 +0.7] 0.0 [ 417 | -41.7] 984 | 839 | +14.5

AAETROMEIXT/21-7/30DF —F THEL TWET, (7/31DOF —FIIA->TWVERA, )
II. FEADELERS

[ & 1Ew]
e
Bl i, /s S it A 7/11,14,15
AR B R 8
-
75 A, e > 0 5 % ag BEE  BEHARC R
52 (%) B O B
i A ) 18 2 0 0 0 20 100 % # & . 03 2.5
C H # w =) 12 2 0 0 0 14 14.3 0.4 3.6
( ™ o) 4 0 0 0 0 4 0.0 0.0 0.0
(& ® # ) 2 0 0 0 0 2 0.0 0.0 0.0
34 i Lz 19 1 0 0 0 20 5.0 % W% 0.2 1.3
(B & n ) 13 1 0 0 0 14 7.1 0.2 1.8
( ™ o) 4 0 0 0 0 4 0.0 0.0 0.0
(& ® # ) 2 0 0 0 0 2 0.0 0.0 0.0
= B A A4 H 20 0 0 0 0 20 0.0 # F &K £ 0.0 0.0
Yty T mowovop 16 4 0 0 0 20 20.0 B/ BRC(E ) 00 5.0
(| W wm B 12 2 0 0 0 14 14.3 0.0 3.6
( ™ o) 2 2 0 0 0 4 50.0 0.0 12.5
(& w # ) 2 0 0 0 0 2 0.0 0.0 0.0
[ G =T/ BV 20 0 0 0 0 20 0.0 Mm%/ (8): 00 0.0
?fgg ﬁﬂ%}g /gﬁ) 9 3 4 2 2 2 55.0 /2070 (8H): 107 313
a 7 ) A A A 20 0 0 0 0 20 0.0 #H # &% £ ®W: 0.0 0.0
HOE M W 20 0 0 0 0 20 0.0 % H B x 0.0
I OF OE N W 20 0 0 0 0 20 0.0 % 9 B x 0.0
#wofk #E MO 20 0 0 0 0 20 0.0 % W FE x 0.0
s S/ A I 20 0 0 0 0 20 0.0 % % B £ x 00 0.0
woOE M R 20 0 0 0 0 20 0.0 % % B £ x 00 0.0
% i 95 19 1 0 0 0 20 5.0 % 9 B Ok x 00 1.3
t A bE T UR 13 7 0 0 0 20 35.0 BB VELLBKx 0.0 8.8
Ve maan’4 15 5 0 0 0 20 25.0 25 HREL WV TE &L o Kk 0.0 6.3
£ %78 H 2 Ay 20 0 0 0 0 20 0.0 25Bk%H v mF=x 00 0.0
A1 FE2vy ) 20 0 0 0 0 20 0.0 258 %Y m %+ 00 0.0




BT R T, VA S bR A 7/28

&R R B B K

.
5 it 4 woos b oz B aw rm O R
555 (%) T K%
5 AT S 19 1 0 0 0 20 5.0 % % B R %) 0.0 1.3
(3’ # w B ) 13 1 0 0 0 14 7.1 0.0 1.8
( M o) 4 0 0 0 0 4 0.0 0.0 0.0
(A6 v ) 2 0 0 0 0 2 0.0 0.0 0.0
3¢ i 95 18 2 0 0 0 20 100 % " B 0.7 2.5
(|’ # w FE ) 13 1 0 0 0 14 7.1 0.6 1.8
( M o) 4 0 0 0 0 4 0.0 0.0 0.0
(A6 v ) 1 1 0 0 0 2 50.0 2.5 12.5
= h A A H 20 0 0 0 0 20 0.0 # & K £ ® 0.0 0.0
Y v ooy ovoR 12 8 0 0 0 20 40.0 R O¥/ Bk (EE) 0.0 10.0
(/% w B ) 8 6 0 0 0 14 42.9 0.0 10.7
( M o) 3 1 0 0 0 4 25.0 0.1 6.3
(A6 v ) 1 1 0 0 0 2 50.0 0.0 12.5
[ G- B/ AR 20 0 0 0 0 20 0.0 %%/ #k (5 ) 0.0 0.0
f‘fi‘g ﬂ;” %A%fﬁ) 6 4 0 0 0 20 20.0 %k /100 4 (5): 0.3 5.0
= 7 J A4 JH 20 0 0 0 0 20 0.0 HREAR DI 0.0 0.0
HOE & W 20 0 0 0 0 20 0.0 % 9 JE  x 0.0
I OF E N W 20 0 0 0 0 20 0.0 % J JE  x 0.0
#wofk #E MO 20 0 0 0 0 20 0.0 % 9 B x 0.0
s S/ R I 20 0 0 0 0 20 0.0 % W% B = x 0.0 0.0
wmoOE M R 20 0 0 0 0 20 0.0 % % B F x 0.0 0.0
% i 955 20 0 0 0 0 20 0.0 % % B F x 0.0 0.0
EAME T YA 3 17 0 0 0 20 85.0 25k VIR E L Kk 0.0 21.3
Ve waan’ [ 12 8 0 0 0 20 40.0 25 BRI E Lok sk 0.0 10.0
VAR S0 B SN 18 2 0 0 0 20 10.0 25 Bk 4 b h % o* 0.0 2.5
£ FEFv Yy ¥t 20 0 0 0 0 20 0.0 25 Bk 4 v M # = 0.0 0.0

BERRE ST MRS, BIRE
7R SEINT ARIGHT HERENT
b Ao PR, S




I

A

FEE T, BT it A 7/11,14,15

F& B TR B % K

e e b
5 4, wo» w5 w o aw em WERBEU R
52 (%) & A0 K
#ooWn % H 23 9 0 0 0 32 28.1 % W 0.6 7.0
( = o) 2 0 0 0 0 2 0.0 0.0 0.0
(W M o) 2 0 0 0 0 2 0.0 0.0 0.0
(& #= =) 11 6 0 0 0 17 35.3 0.9 8.8
() o) 8 3 0 0 0 11 27.3 0.3 6.8
F3'e Hili ¥ 31 1 0 0 0 32 3.1 % OB R W) 0.1 0.8
( = o) 2 0 0 0 0 2 0.0 0.0 0.0
(W M o) 2 0 0 0 0 2 0.0 0.0 0.0
(& H o) 16 1 0 0 0 17 5.9 0.2 1.5
( ;o) 11 0 0 0 0 11 0.0 0.0 0.0
= h A A H 32 0 0 0 0 32 0.0 # F K HE . 0.0 0.0
SR = N VA 16 16 0 0 0 32 50.0 H ¥/ Bk (EE ): 0.0 12.5
( = o) 2 0 0 0 0 2 0.0 0.0 0.0
(W Mmoo 1 1 0 0 0 2 50.0 0.0 12.5
(& &= =) 7 10 0 0 0 17 58.8 0.0 14.7
() o) 6 5 0 0 0 11 45.5 0.0 11.4
[ G =T/ BV 32 0 0 0 32 0.0 H % / #k (#): 0.0 0.0
?E%;‘ ﬁﬂ%’? /;ﬁ) 12 5 7 8 0 32 62.5 %% /207 ) (5 ): 5.0 33.6
HOOE M W 32 0 0 0 0 32 0.0 % 9 JE % 0.0
I OF OE N W 32 0 0 0 0 32 0.0 % 9 JE 0.0
ok E MO 32 0 0 0 0 32 0.0 % 9 B x 0.0
s S/ A I 32 0 0 0 0 32 0.0 % W% B F x 0.0
wmooOE R W 32 0 0 0 0 32 0.0 % 7% B = x 0.0
ES s 955 32 0 0 0 0 32 0.0 % % B F x 0.0
EAME ST VA 6 26 0 0 0 32 81.3  25HkiA L L Hx 20.3
Yy iweaandg 18 14 0 0 0 32 43.8 25 BEHA L L B Bk 10.9
{2780 A by 31 1 0 0 0 32 3.1 25 Bk M v oh K« 0.8
A FEVvY ¥ H 32 0 0 0 0 32 0.0 25 Bk 24 v 4 % = 0.0




P, BT it A 7/28,30

F& B R B % K

-
% i 4 wo» w5 w o aw em WERBEU R
52 (%) g A0 K
1 L ) 20 10 2 0 0 32 375 % W 3.5 10.9
( o) 2 0 0 0 2 0.0 0.0 0.0
( M) 2 0 0 0 2 0.0 0.0 0.0
( mooE ) 10 0 0 0 17 41.2 2.5 10.3
( oo 6 2 0 0 11 45.5 6.5 15.9
E3'd Hili ] 19 12 1 0 0 32 40.6 & KR = O 4.3 10.9
( oo 1 1 0 0 0 2 50.0 4.0 12.5
( M) 2 0 0 0 0 2 0.0 0.0 0.0
( mooEs ) 8 8 1 0 0 17 52.9 6.9 14.7
( oo 8 3 0 0 0 11 27.3 1.0 6.8
= A H 32 0 0 0 0 32 0.0 # F K HE 0.0 0.0
+ =R 22 10 0 0 0 32 31.3 %/ Bk (EE ) 0.0 7.8
( o) 2 0 0 0 0 2 0.0 0.0 0.0
( M) 1 1 0 0 0 2 50.0 0.1 12.5
( B ) 11 6 0 0 0 17 35.3 0.0 8.8
( o) 8 3 0 0 0 11 27.3 0.0 6.8
p 0oyovoR 32 0 0 0 0 32 0.0 ® % / #k (#): 0.0 0.0
( o) 2 0 0 0 0 2 0.0 0.0 0.0
( M) 2 0 0 0 0 2 0.0 0.0 0.0
( B ) 17 0 0 0 0 17 0.0 0.0 0.0
( o) 11 0 0 0 0 11 0.0 0.0 0.0
?I%,gﬁ £ Eﬂfﬁg /grﬁ) 7 9 8 8 0 32 78.1 MU ¥ /20 7 ) (R ): 6.6 38.3
a7 ) A AT 32 0 0 0 0 32 0.0 # E # £ ) 0.0 0.0
H W 32 0 0 0 0 32 0.0 % JH JE x 0.0
Z E O OH 28 2 1 1 0 32 125 % 9/ E x 5.5
wodk E M W 32 0 0 0 0 32 0.0 % JH JE x 0.0
=4 WO 32 0 0 0 0 32 0.0 % K B R = 0.0
fﬁ W 32 0 0 0 0 32 0.0 Z % K F 0.0
ES s 955 32 0 0 0 0 32 0.0 % W% B = x 0.0
t AV 2 30 0 0 0 32 93.8  2HRIVELL R 23.4
Y ngdan’ 4 12 20 0 0 0 32 62.5 25 Bk L Lok Kk 15.6
{ mA ALY 28 4 0 0 0 32 12.5 25 Bk M4 1 L * 3.1
{ vyt 31 0 0 0 32 3.1 25 Bk b MK« 0.8

wOE . PIEETH

W s o EARETPNAT, IREET

e o IRPRET, BEERT, AREPET, FARET, BT, A FERT, H R
VOE . BT, SAFT RALLET




| v~ qe |

T, M TfERE: 7/10

F& R R B 5 R

- . FEAEFRPE RS
95 EE 4 I A th %77 H NI %Elﬁ] HAEEAB &KW - H
o o 553:(%) A O FE X
A OE M FE oM@ 2 14 0 0 0 16 87.5 # EH E 4.6 21.9
4 F X N F 7 0 0 0 16 56.3 B = O R ) 1.0 14.1
7 7 5 A v OH 9 1 0 0 16 438 % A Bk R @) 6.3 12.5
N = H 10 0 0 0 16 375 & B O OE ) 2.5 9.4
T, BT 7/30
& E R E B K
. . & AR R B R
- w o w g g sz LM A RO TR
o o 553(%) T A O FE X
A OE M FE oM@ 0 14 1 0 0 15 100.0  # & JE 16.3 26.7
4 F X N F 8 7 0 0 0 15 46.7 W E O R ) 0.9 11.7
NE = 14 1 0 0 0 15 6.7 % Mk # R %) 0.1 1.7
Antaafyt gy 12 3 0 0 0 15 200 % A& K % = 5.0
R #f]
IR
RS, BRRRT AZIR AR : 7/14
% E R E B K
. . & AR R B R
e 4 w o w g g sz EE A RO TR
B o 553:(%) F A O FE IR
P/ S A S S T 6 2 0 0 0 8 25.0 B E % B O 0.1 6.3
NI/ 0 8 0 0 0 8 100.0 # %= % 4 = . 2.5 25.0
T 75 A v M 6 2 0 0 0 8 25.0 %O MY o % 6.3
NP wARE R 2 5 1 0 0 8 75.0 % & E R x 21.9
ERR A TN 7 1 0 0 0 8 125 % 4 B ¥ ox 3.1
| =5 ]
FEIS T, BEIEAT, 2RI AT, #R LT FRA: 7/14
& E R E B K
. . & AR B R
- w o w g g sz EE A RO TR
o o 553:(%) F A O FE X
AN AT S T 1 7 0 0 0 8 87.5 ® £ % # K 0.8 21.9
NI/ 4 4 0 0 0 8 50.0 & 3k % A& % 1.6 12.5
7 7 5 A v OH 4 4 0 0 0 8 50.0 FF A B R % = 12.5
SHYANES YN 2 3 3 0 0 8 75.0 F O£ E E o« 28.1
AT AT 3% 5 3 0 0 0 8 375 H A& oHm o= 9.4




ISP, FAFEIT A 7/15

AR R B R 8 4K AT P e

W5 A I A i D

-2} 2 ] 8 0 0 0 0 8 0.0 3% W5 #H R O 0.0 0.0
" 7 0 0 0 0 7 0.0 % Fi ® E O 0.0 0.0

5 0 AR 7 1 0 0 0 8 125  3E O % 5 R E 0.1 3.1
N4 = M 4 4 0 0 0 8 50.0 & & & ) 2.6 12.5
V7 SN | 7 1 0 0 0 8 125 #F E OB R O 0.1 3.1

Ve

LARHET DL AL LKA 7/28
B R B B %K I
5 4 4, woov w oz g aw Fpl WESBRD R
S (%) FEE O K

172 z 95 6 0 0 0 0 6 0.0 B RY % 0 R O 0.0 0.0
5 0 A 1 2 2 1 0 6 83.3 ¥ N O R ) 13.6 37.5
B o % O W 6 0 0 0 0 6 0.0 % 95 ZE R ) 0.0 0.0
V7 SN | 6 0 0 0 0 6 0.0 # %= R R O 0.0 0.0
VIE VRN SN 6 0 0 0 0 6 0.0 # E B K = 0.0
TYAT AN T AY 3 1 2 0 0 6 500 % £ B K 20.8
AERIETH Iy 6 0 0 0 0 6 0.0 # E B K = 0.0
A 7 7 6 0 0 0 0 6 0.0 # & # K = 0.0




| == |
Ff i, LA 7/11,15
*® A RR R R 8 I
15 wo» v 5w oaw gpm WERBEU R
153 (%) 5 A D Ry %
5 & AT 7 2 0 0 0 9 22,2 & W OIE R @) 0.8 5.6
woa o W 9 0 0 0 0 9 0.0 3% 9 B R @ : 0.0 0.0
7 7 5 A v OH 9 0 0 0 0 9 0.0 % & # ¥ & O 0.0 0.0
SNAE LI RNY 9 0 0 0 0 9 0.0 # & gE 0.0 0.0
" 9 0 0 0 0 9 0.0 #FE B & W : 0.0 0.0
NF = 8 1 0 0 0 9 1.1 % & 3 R @ 0.1 2.8
NN e BN A4 3 6 0 0 0 9 66.7 & kR @) 1.4 16.7
" 9 0 0 0 0 9 0.0 #FE B & W : 0.0 0.0
H Fik 55 9 0 0 0 0 9 0.0 % W B £ =x 0.0
A VA & A AN 7 2 0 0 0 9 222 % B Ok E % 5.6
Fargp i, JERG T . 7/28,29
B i NG -
- i FE A
W5 B b4 woor bz e ol L

5 0 AR 3 6 0 0 0 9 66.7 % K HE = (0 : 3.2 16.7
Z I N 9 0 0 0 0 9 0.0 3 % B K ® 0.0 0.0
7 7 5 A v M 9 0 0 0 0 9 0.0 % 4 # ¥ £ W 0.0 0.0
SNAE Y RNY 9 0 0 0 0 9 0.0 # F JE 0.0 0.0
N F = H 6 3 0 0 0 9 33.3  F kR W 0.9 8.3
IFIXARTH I 2 7 0 0 0 9 7.8 HF kR ©®) 5.7 19.4
” 4 4 0 1 0 9 55.6  #k T R R O 4.0 19.4
H i 955 9 0 0 0 0 9 0.0 % W% B F x 0.0
VA S AV 9 0 0 0 0 9 0.0 # F 1 R =« 0.0




& x x|

N

EETTIHE: 7/30

Ci

&R R B B K

B} AT F o
U, - A [ MAEHEA KV
5 2= A Vi PaN=:
%ﬁma% s = EP g % l:lu+ 757%’—?‘(%) %\éﬁi@ﬁlﬁ%ﬁiﬁ
%7 Iv<= 4 5 0 0 0 9 55.6 W E O OE 1.4 13.9
S TMUNE 3/ IV -2 0 1 5 3 0 9 100.0  # & g 17.7 55.6
ve4FEY aby 8 1 0 0 0 9 11.1  HU % /50 # (58 0.1 2.8
2 Bt ] 9 0 0 0 0 9 0.0 ¥ % E x 0.0
AFAFT |
T, BTrE A : 7/29~31
B i NG
B} AT Feox
o X - 5 A [ MAEHEHE KOV
§ 2= A Vi PAN=:
%ﬁmi% s = EP g % l:lu+ 757%—?‘(%) %\éﬁi@ﬁl%iiﬁ
5 ¥ AR 10 0 0 0 13 23.1 % K O R o) 0.8 5.8
17 z S 13 0 0 0 0 13 0.0 % JF B F = 0.0
ES Eo 955 13 0 0 0 13 0.0 % % H % x 0.0
1) BAREREHILL FoRXLRH T2,
Hx1 + 2+ 3+
s — 2L W X2 2XS HkX ) %100

AL 54K X 4



